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HESE JREINRE GRENEREE BEE  BEDUR SNSEt BMSRD BRSEM 29 i i oM
iEHE By ASTM  C230  C240  C430N E430N CH230N EG30N E440NK PA46  PA9T  PPS LCP
HEZMHZEE % = 30 40 30 30 30 30 40 30 33 40 30
thE D792 EIEA2 1.53 1.66 1.66 1.63 1.58 1743 1.63 1.68 1.67 1.62
okl
5|3R58E MPa D638 170 210 170 170 160 210 190 180 180 170 140
SRR % D 638* 88 3 3 3 4 6 3 3 3 2 3
3R MPa D790 260 300" 250 250 240 275 280 260 240 250 220
i e MPa D790 10,000 13,000 11,400 11,400 11,000 12,500 17,000 11,000 11,000 13,000 13,00C
TAT Y MERBE J/m D 256 | 80 85 85 80 80 100 100 90 100 80 110
OYo2OLIVEE MIy-I D785 110 110 95 100 95 100 100 == =g 100 =
Lobed s
I = 310 310 310 320 310 320 320 290 306 280 =
15 AERiEm & = 85 85 85 95 85 95 95 89 1:25 90 =
HEI-hdRE(182MPa) T D648 300 300 295 305 290 310 300 285 285 265 280

% a1 1.8 1.8 il o2 2L 143 1.6 1.8 T 2.5 2.0 =
HREERREL X105/C E831-93

FEER(E 10 8.0 9.2 7o) 8.9 6.8 6.9 4.0 4.0 =
ey = UL94 HB HB V=0 V=0 V-0 V=0 V=0 V-0 V-0 V-0 V-0
WA
FHERIER Q-cm D257 Ml0S 101¢ 1018 1078 101° 10 10 1018 11018 106 108
F®WE(10%Hz) - D150 (4.5 4.5 4.0 3.6 4.0 319 41 4.0 3l 3.8 4.0
SREIE#E(10%Hz) — D 150  BEIONBEOIEI8E 010130101 2500 01135 RS R i = 0.014 0.0014 —
ERREEE KV/mm D149 28 30 26 24 25 24 18 — 38 17 =
RETURHRZE (2mmt)
bt (w10 0.5 0.4 0.3 0.3 0.4 0.2 0.2 0.2 0.4 0.2 0.02

% D 955

F|EHG 0.8 0.8 0.7 0.9 0.8 0.8 0.6 1.7 0.9 0.4 0.06
U 70—
MR 7k FR % 4 % D570 3.6 s 2.0 1.9 22 2.1 1.4 3.8 0.8 = =
) 7O0—E—27E8 C = BEs0Ea 240X 25 RSP $ENEREEASNZE 0SS < 210%0 245*5 265 > 265

*HEIINRETHY FRBETIIHY EEA,

1 EERFHBEL

®2 BURFv Y IBTHE.
3 FEF:164X6x0.8mm,

4 FERE 40T x95%RHX96 N,
5 WREWPY IJO-FHCLUNRBREERIZEDUET,

BieE  SERMEE - HITEE - TR

1MPa=10.2kg/cm?

7w MEEEEE
14/m=0.102kg - cm/cm




